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�> I/= ��!4 G�!= �3�L/L/: 	/4C!=
 != �F2F.�/! 2F4( 2!F�-C!4  /! �C!/2.
I�4 !  != �=�1!4>�!=(! /4  != F4C!=.
(!-!4 !4 �644!: 
3 	�2� F41!2 C=/4.
1!4 !/4 9��= !/4-!/3/>�-! ��44!= �F%
 != �!==�>>!  != �6=%��= !/4 �/!=: �/4!
�=F99!  !FC>�-!=�6F=/>C!4 >/CLC �F%  !=
�=!99! F4 I�=C!C (!>9�44C �F%  /!
�!=(%G-=!=/4 %G=  �>�=!11/4( H63 163.
3!4 !4��(: ��-2/!>>2/�- !/2C  /!>!= �=�F
!/4 �!>64 !=!= �F% H6=�F>� �/! />C  /!
!/4L/(! >�-I�=L! �!=(%G-=!=/4 �G �%=/.
1�> 3/C !/4!= �F/ /4(.
/L!4L %G=> 	6�-.
(!�/=(! # F4  �LF �F2F.�=/!(!=/4:�/= 
>/! /3 C=� /C/64!22!4 �!I�4 !=>�-!/.
4!4; �/= >/! �!/3 ��4 !=4 �F4C!4
�!=2!4>�-3F�1 C=�(!4 F4 1=/!(!=/>�-
 !4 �64 �4(!�!4;

��44 �!C=/CC �!! � ���  /! �G-4!:
	�FC!4(! �!�4>� �.�-/=C� =�>9!21F=L!>
	��=�I��-!= �2/�1� C/!%!> 
��-!4:�!2�>C.
�!IF>>C >!CLC >/�-  /! 'M.��-=/(! LI/.
>�-!4  /! �=!3 !4 F4 (/�C 4/�-C !CI�
!/4 �=/!%/4( %G=  /! �6F= # 4!/4� >/! !=.
L�-2C 2�FC H64 I/2 !4 �F>2�4 0�-=!4 /4

�4(2�4 � H64 H/!2 �/!= F4 H/!2 �F4: �6
2�FC� �2> >!/  /! �6C>�-�%C 3!-= %G=  /!
 !>/4C!=!>>/!=C I/=1!4 !4 �F2F.��44!=
�F%  != �!==�>>! �2> %G=  /! �=!11/4(C!/2.
4!-3!= �!>C/33C:�/!  !FC>�-!4�6F=/>.
C!4 >/4 2!/�-C /==/C/!=C:

�3 4��->C!4 ��(  �44 !/4 H722/(
�4 !=!> �/2 : �/! �!=(%G-=!=/4 C=�(C
��4 !=�!12!/ F4(� �!=(>�-F-! F4 
�F�1>��1� /4%6=3/!=C 9=�L/>! F4 163.
9!C!4C G�!=  /! �/4C�(!>.�6F= -/4�F%
LF3	6�-92�C!�F  != �=�1!4>�!=(!: �/!
H!=3/CC!2C !/4 �!%G-2 H64 �/�-!=-!/C F4 
�!=C=�F!4� 2�>>C  !4 �C�=1>C!4 �3
��-2F>> F4  !4 ��-I��->C!4  /=!1C -/4.
C!= >/�- (!-!4 F4 2!(C �F%  !3 >�-3�.
2!4� >C!/2!4�4>C/!( !/4!4 (2!/�-3�>>/(!4
�!=(%G-=!=C=/CC H6=:

	$��) &�� ��������"$ ��! 
&�&
�F4 !2% �/22/64!4 �F2F 2!�!4 -!FC! /4
�G �%=/1�� -�F9C>��-2/�- /4  != �=6H/4L
�I��F2F.��C�2�  6=C� I6 �F�-  /! �=�.
1!4>�!=(! 2/!(!4: �/! >/4  /! (=7>>C!

!C-4/>�-! �=F99!  !> 
�4 !>: �4C!=
/-=!3�74/( �-�1� !4CI/�1!2C!4 >/�-  /!
�F2F H6= =F4 LI!/-F4 !=C ��-=!4 3/C
1=/!(!=/>�-!4�1C/64!4 H64 !/4!3 F4�!.
 !FC!4 !4 �2�4 LF !/4!3 3��-C/(!4
�621: ��-!=� -!/>>C !>� =G-=C!4 /-= �C62L
F4 /-= ��39%(!/>C:

�/! �=�1!4>�!=(! >/4 �!! � ���>
�F-�F>!: 
4 �3�L/L/� �3 �F>>!  !> �!.
�/=(!>� />C >/! �F%(!I��->!4� 3/C LI!/
��-I!>C!=4� LI!/ �=G !=4 F4  != H!=.
I/CI!C!4 �FCC!=: �> >!/ !/4! I/2 !� F4.
(!>CG3! �/4 -!/C (!I!>!4� !=L�-2C >/!:
�/! ��2(C! F4 C6�C! 3/C  !4 �=G !=4
-!=F3� >C=62�-C! 3/C /-4!4  F=�-  /!
�!=(!� !==!/�-C! 6%C �2> �=>C!  /! 4�-!4
�/9%!2� �C!326> F4 (2G�12/�-� F4 I�(C!
>/�- 6-4! 0! ! �F=�-C /4  /! �!/ H/!2!4
�F2F> �!=G�-C/(C! 	7-2!  != ��44/��.
2!4: �6=C -�CC!4 >/�- /-=! �6=%�-=!4 /3
85: ��-=-F4 !=C I�-=!4 �C�33!>1=/!.
(!4 �F%  != �2F�-C H!=>C!�1C?  6=C -�C.
C!4 >/! /-=! �6C!4 H!=L!-=C� F3 4/�-C
	F4(!=> LF >C!=�!4:�3�L/L/�  != ��3!
 !> �6=%!>� />C !/4 �F2F.�6=C F4 �!.
 !FC!C �!4>�-!4%=!>>!=:

�� H64 /-=!4 1�44/��2/>�-!4 �6=%�-.
=!4 �2FC /4 /-=!4� !=4 %2/!>>C; �!! 2��-C:
)�!44 I/= �!>�-I/>C!= ��2(C!4� �/>>!4
I/= F4> /4 �=3! F4 �!/4!: �2> �F2F
-��! /�-  �> ��39%!4 /3 �2FC: +�!/4!
��-I!>C!= />C !/4 �F4(!$,� >�(C!4 3!/4!
�=G != G�!= 3/�-�I/2 �I/! /�- I�=:�4 
 /!�FCC!= !=3�-4C!3/�- >C!C>�3/�- I/!
!/4�� �-!4 LF �!4!-3!4:*�F�- �2>  /!
�!>�-I/>C!= �2C!= IF= !4� L6( !> >/! /4
 /! �!=(!:�%C (/4(!4 >/! I�4 !=4:)�6�-
!> I�= 3!-= �2>  �>*� !=L�-2C �!!: )�!44
 != 0G4(!=! 3!/4!= �=G != >�(C!� +
�>>
F4> I�4 !=4 (!-!4,�  �44 -/!>>  �>�
+
�>> F4> =! !4:,*

��>��39%!4 />C �!! (!�2/!�!4�I!44
�F�- /3 G�!=C=�(!4!4 �/44!: �2> 0F4(!
�=�F �=��- >/! �F>� �F> /-=!3 �6=% F4 
�F>  !=�!2C  != �F2F>: �/! 2!�C! /4 �4(.
2�4 � �=�!/C!C! /4 �G=6>: �6�- �F4� �/!=
F4 �G=606� 3��-C!4 >/! 4/�-C (2G�12/�-:
	!/3I!- 4��-  != ��CF= F4  !4 �!=.
(!4 C=/!� >/! LF=G�1 /4 /-= �6=%: �/! !4C.
>�-/! >/�-� �!=(%G-=!=/4 LF I!= !4�

!/(!4C2/�- !/4 ��44!=�!=F%: �4 >/!
-�CC!�2G�1: 
4 �G �%=/1� 1�3 (!=� !  !=
�=!11/4(C6F=/>3F> �F%� !> �=�F�-C! �F>.
(!�/2 !C! �!=(%G-=!=: �6 1�3 !>�  �>> /-=
 != �C��C  /! D8MM �=�41!4 C!F=!� LI!/.
0�-=/(! /4C!=4�C/64�2 �4!=1�44C! �F>�/2.
 F4( LF3 �6F4C�/4!!=/4( �4 � H!4.
CF=!�F/ ! %/4�4L/!=C!:�/! 146�-!4-�=C!
��-F2F4( /4 �-!6=/! F4 �=�J/> �!%�-/(C
 /! �F/ !>� �6F=!4 /3 	6�-(!�/=(! �F%
G�!= E"MM�!C!=4 LF 2!/C!4:�6=C 6�!4� /4
 != 3!4>�-!42!!=!4 �/2 4/>� /4  != !>
1!/4! �!(! (/�C� 3F>> >/�- !/4 �!=(%G-.
=!= >!/4!= ���-! >/�-!= >!/4: )
4 3!/4!=
�2�>>! (�� !> 4F= ��44!=:�22! !=I�=C!.
C!4�  �>> /�- >�-!/C!=4 IG= !*� !=/44!=C
>/�- �!!: �> (�� %G= >/! 4F= !/4!4 �!(�
�!>>!= LF >!/4 �2> /-=! �622!(!4:

�6= LI!/ ��-=!4 !=2�4(C! >/!  �> �!.
(!-=C! �/9263: �/! �=�!/C!C -!FC! �2>
>!2�>C�4 /(! �!=(%G-=!=/4 %G= H!=>�-/!.
 !4!�(!4CF=!4 F4 %G-=C !/4 �!�3 H64
�=�(!=4: �!= >G �%=/1�4/>�-! �!/>!2!/C!=

	�44!> �!�=/!>�  != 6%C 3/C �!! � ���
LF>�33!4�=�!/C!C� />C  !> 
6�!> H622 %G=
>!/4! �622!(/4: )�!! 1!44C  /! �=�1!4>.
�!=(! I/! /-=! �!>C!4C�>�-!� />C 9=6%!>.
>/64!22 F4 !4C>�-!/ !C /4 >�-I/!=/(!4
�/CF�C/64!4 �2/CL>�-4!22 F4 =/�-C/(*� >�(C
 != ''.��-=/(!: )
-= (=7>>C!= ��-�CL ��!=
/>C /-=! �!=>742/�-1!/C: �/! />C �FC-!4C/>�-�
6%%!4 F4 1�44 IF4 !=��= !=L�-2!4:*

�6�- �F>(!=!�-4!C 3/C >G �%=/1�4/.
>�-!4��>C!4 I/22 !> 4/�-C %F41C/64/!=!4:
�/! I/>>! 4/�-C� I/! 3�4 3/C /-4!4 =/�-.
C/( 1633F4/L/!=!� >�(C �!! H�(!:	�44!>
�! �=/!> />C  � 1641=!C!=� )�!! />C !/4!
�=�F� 46�-  �LF !/4! >�-I�=L!: ��3/C
-��!4 H/!2! �G �%=/1�4!= 46�- -!FC!
�=6�2!3! F4 �1L!9C/!=!4 >/! �2> �!=(.
%G-=!=/4 4/�-C:* 
-=! �F2F.�F(!-7=/(1!/C
�=/4(C  != �!=(%G-=!=/4 ��!= �F�- �6=.
C!/2!� !CI� /4  != �F>�33!4�=�!/C 3/C
/-=!4 �=�(!=4: �F�- >/! >/4 �F2F� >9=!.
�-!4 ��!= 1!/4 �4(2/>�-: �!! F4C!=-�2C
>/�-3/C /-4!4 /4 /-=!= �9=��-! F4 1!44C
/-=! �F2CF= F4 /-=! �!4C�2/C�C:

��� 	���� ��$ ��� �����!�
�/!�L!-4�=�(!= (!-7=!4 LF �!! � ���>
�!�3: �G= !/4! �!�->C�(!C6F= 3/C L!-4
��>C!4 �!47C/(C >/! %�>C �22!:�!= �=�(!=.
06� />C -�=C: �/> LF E& �/26> 3G>>!4  /!
��44!= G�!= H/!2! �CF4 !4 ��( %G= ��(
�F%  !3�G�1!4 C=�(!4:�!= >�-I��-!2C�
%2/!(C =�F>: �!! I622C! !/4 �=�F!4C!�3
�F%��F!4 F4 4�-3  =!/�=�(!=/44!43/C
�F% !/4! �6F=�  6�- >/! I�=!4 LF 2�4(.
>�3: �> (�� ��>C!�  /! =!12�3/!=C!4:
)�F2F.��44!=  �(!(!4 IG= !4 !-!= C6C
LF>�33!4�=!�-!4� �2> ��-I��-! LF L!/.
(!4:��LF >/4 >/! H/!2 LF >C62L*� >�(C �!!
F4 2��-C /-= C/!%!> 
��-!4: �64 /-=!4
�=�(!=4 >�-!/4C >/! =!>9!1C/!=C LF I!=.
 !4: �F�- I!/2 >/! /-= E&.�/26.�!9��1
>!2�!= C=�(C F4 C=6CL !3 >9/!2!4 0! !4
�6=C!= G�!=-62C:

�/! �=�(!= =!1=FC/!=C �!! � ��� �F>
�3�L/L/: ��3/C !=37(2/�-C >/! >/!�L!-4
��3/2/!4 !/4 �/41633!4:�!446�- I/= 
>/! /3 �6=% 4/�-C H64 �22!4 �1L!9C/!=C:
�/!2! >�-4!/ !4  /! �!=(%G-=!=/4� H6=

�$�� ��� $�� ���
�% ���
 �� �������
����#�� 
�� ����#
��%������� ����'��
���� �� ��#$ 
$�� ��� �� ��� # ��

!�� ($ %�� �� �� �� ��

��� ����� ���# $�#� %�� ��� � ����!�� ���� �	�� ���� ��� �� ���!� �����$�� ��
�# �� �#&�! � �!!� �! ���$������ !��# ��� �� ��%� � �� 
�� ������ ���� �� �� !��� �% ��
� �$
� ��� !�� �#$���� � #� �
� ���� ��� ���!#� ���� !������ 
��� ��������� � 
����
� ��� ��
�	��� ����

)�6 �#%(&�0�- ���"	'�( -��#$/�$�+


0(&�'#"�#%�-�.�-3�0

�(4�%"��0�%"��0#('�%*�-$

�-2 �-"��0#('�%*�-$
�%4�� �#3�- ��'4('

�#% -#&,. ��.0 �-�.$(* �(- �

����
��



(!�''�.�1- 

�-�$�'.��- � �-4!�#�

�&�5#5#

�	�������

�������

�����	�	


���
�	���

��������

Ƣž Ƣȡ



�!��$��� �� ��
!&�! %*�� �����
�
�������
�
�� �������

�22!3��44!=:��!=-�F9C >!/ !> 3/C  !4
��44!=4 >6 !/4! ���-!� >�(C �!!: �2>
�=�F�  /! /-= !/(!4!> �!2 H!= /!4!�
!/4!4 ��44 LF %/4 !4� >!/ >!-= >�-I!=:
)�/! ��44!= -/!= I622!4�  �>>  /! �=�F
%G= >/! 16�-C F4 9FCLC: ��>> !/4! �=�F
>6 I/! /�- �!=F%2/�- I6�-!4I!/>! ��.
I!>!4 />C� (!-C (�= 4/�-C:* 
/!�!= 2!�C
�!! 6-4!��44: 
-=!�FCC!= >�-!/4C  �>
�!>!4  != �6�-C!= >�-64 �!/  != �!.
�F=C !=�-4C LF -��!4� �!! />C  /! �F=L.
%6=3 H64 �/3!2!: ��> />C �F2F F4 �!.
 !FC!C )F4��-�4(/(*:

�/4!4 ��44 (/�C !>  !=L!/C 4/�-C /4
�!! � ���> 
!�!4: �/! />C (!>�-/! !4
F4 -�C LI!/ �7-4!: �!44 >/! /4  !4
�!=(!4 �6F=!4 %G-=C� �!C=!FC /-=! �FC.
C!=  !4 @. F4  !4 8".��-=/(!4: �/! >C!-C
H622 F4 (�4L -/4C!= /-=!= �6�-C!=:
�CI�> 9�C-!C/>�- >�(C �!!� )
�- >C�33!
H64 !/4!= 
/4/! H64 �=�F!4 ���  /!
�CG=3! G�!=2!�C F4 �!=(! H!=>!CLC
-��!4: �!/4! �FCC!= -�C /4 /-=!3 
!.
�!4 I!/C (=7>>!=! ��-2��-C!4 (!>�-2�.
(!4 �2> /�-: �/! I!/>>�  �>> /�- 3/C �6F.
=/>C!4 I�4 !=!:�4  6�- %=�(C >/! 46�-
/33!=� +�4 I�> �=�!/C!>C  F;,*

�!!> �7-4! C!/2!4  /! 
!/ !4>�-�%C
/-=!= �FCC!= %G=  /! �!=(!: �!= �2C!=!
�!(2!/C!C >/! 3�4�-3�2 LF3 ��4 !=4:
��44 I/22 != /-= �!9��1 C=�(!4:�!=(%G-.
=!= 37�-C! != ��!= 4/�-C I!= !4� 2/!�!=
��41!=�  �3/C !=  �> �!2 >!/4!=�FCC!=
H!=I�2C!4 1�44: �!= �G4(!=!  !41C /4
!/4!= �4 !=!4��-=F4(� )�!/4!=�FCC!=
(!-7=!4  /! �!=(!: �> (/�C H/!2! �!=(!:
�/! />C >!-= =!/�-:* �/4�4L/!22 =!/�- I/= 
�!! 3/C /-=!3 ��-=!>9=6(=�33 H64
>!�-> �!-=C�(!>C6F=!4 F4 !/4/(!4
��(!>I�4 !=F4(!4 LF=L!/C 4/�-C� ��!= >/!
>!CLC �22!>  �=�4�  �>> !> 3!-= �6F=!4
I!= !4: ��3/C !> %G=  /! 12!/4! ��3/2/!
LF3 
!�!4 =!/�-C� 06��C >/! /4  != C=!1.
1/4(%=!/!4 �!/C /4 !/4!= 	6C!2��=:

�!= �9�(�C�  !4 �!! � ��� LI/>�-!4
 != �F2F.�=� /C/64 F4  !3 
!�!4 �F>.
>!=-�2� /-=!= �F2CF= 3��-C� />C �!C=��-C.
2/�-: �I�= 4/33C >/! �4 C=� /C/64!22!4
�!=!364/!4 C!/2� C=�(C �6�1 F4 ��-F-!
3/C ��>�CL F4 >/CLC �F% ��CC!4 �3

�6 !4� I/! !>  /! �F2CF= H!=2�4(C: �6�-
LF 	�F>! �!H6=LF(C >/! 	6>!4 F4 >/CLC
�F% �CG-2!4 # %G= �F2F.�=�F!4 !/4 ���F:
�!/3 ��4 !=4 H!==�C /-= �FC%/C 4/�-C>
H64 /-=!= �F2F.�F(!-7=/(1!/C� >/! C=�(C
4/�-C  /! �9F= H64 �!=2!4>�-3F�1:�=6CL.
 !3 �!L!/�-4!C >/! >/�- �2> �F2F.�=/!(!.
=/4:��=F3; �/! �4CI6=C 1633C 9%!/2.
>�-4!22� )
�- -��! %F=�-C26> LF >!/4$*

��� ��!�� ��" "��!�$&����! �!$
�!! � ��� 12!CC!=C -/4C!=  !3 2!CLC!4
��>C �F%  != �!=G�-C/(C!4 �!CC!42!/C!=
�4 !/4!= �!2>I�4 -/4�F% LF3 	6�-.
92�C!�F  != �=�1!4>�!=(!: ��!4 �4(!.
1633!4� �=!/C!C >/!  /! �=3! �F> F4 
=F%C� )�/!>! �!/C!$ �/!>! ��-74-!/C$ 
>C
 �> 4/�-C IF4 !=��=;* �!/ 0! !=�6F= >!/
>/! H64 4!F!3 �!=G-=C: )�/! 1�44 3�4
/4  /!>!= �3(!�F4( 4/�-C �4 !CI�>
�=7>>!=!> (2�F�!4; �/! �!=(! >/4 %G=
3/�- �F�- !/4 >9/=/CF!22!= �=C: 
�- 1�44

 /! �!/>C!= /33!= >!-!4$* �/CC!C >/!  /!
�!/>C!=  != �-4!4 F3 ��C� >6� I/! H/!2!
�F2F !> CF4; �!! L7(!=C: )�!/4*� >�(C >/!
 �44� )��> /�-  �3/C �F>27>!4 IG= !�
1744C! -!%C/( >!/4: 
�- �=�F�-! /3
�63!4C 4/�-C LF I/>>!4� I�>  /! �F.
1F4%C �=/4(C: 
�- �/4 3/C  != �!(!4I�=C
�!>�-�%C/(C:*

�%C 1633C �!! �22!/4! -!=�F% /4  /!
�!=(!: ��4 !=C� >�-2�%C /4 	7-2!4� /4
 !4!4 >�-64  /!�6=%�-=!4�4C!=>�-2F9%
%�4 !4 F4 /-=�/!- -/!2C!4:�/!> />C /-=!
�!2C� -/!= C�41C >/! �=�%C: ��4�-3�2 />C
/-=  �> 
!�!4 >�-I!=� I/! H6= !/4!3
��-=: �� I�=  /! ��-!/ F4(�  � I�=  !=
�6  !> 0G4(!=!4 �=F !=>: �/! 3F>>C!
�F�-  /! �FCC!= F4C!=>CGCL!4� 3F>>C!
>C�=1 >!/4: )
4 >62�-!4 �63!4C!4

1633! /�- -/!=-!=: 	/!= �/4 /�- �22!/4:
	/!= 1�44 /�- >�-=!/!4� I!/4!4� IGC!4 
>!/4:�!/4!= -7=C 3/�-:*��4�-3�2 �=�F.
�-! !> !/4! LF>�CL2/�-! ���-C /4  !=
�/2 4/>� I!/2 !> 46�- 4/�-C =!/�-! 3/C
 !3 �F%C�41!4: �!/2 !> 46�- 4/�-C =!/.
�-!� F3 !/4! �662! �FCC!=� !/4! >C�=1!
�6�-C!=� !/4! !/(!4>C�4 /(! �!=F%>C�C/(!
�=�F LF >!/4:

�33!/>C!4 2/!�C �!!  /! �644!4�F%.
(�4(!: )�! != �644!4�F%(�4( />C !/4
IF4 !=>�-74!= �4%�4( !/4!> 4!F!4

!�!4>*� >�(C >/! 3/C >�4%C!= �C/33!:
)�/4(!�  /! 3�4 (!>C!=4 4/�-C �4 !=4
1644C!� �!1633!4 !/4! 4!F! �-�4�!:*

�F%  != �4 !=!4 �!/C!  !> 	6�-.
92�C!�F> �4(!1633!4� >C!-C �!! � ���
�3 ��4  !> (/(�4C/>�-!4 �!2>!4.

�39-/C-!�C!=>�  !>>!4��4 ! H6= /-=!4
�G>>!4 >!41=!�-C ��%�22!4: �/! �2/�1C /4
 /! �!/C!: �6=C  =G�!4 />C  != �F(!2�.
��22 LF >!-!4� �%=/1�> -7�->C!= ��>>!=.
%�22� /4  != �!=4! (2/CL!=4  /! 	GCC!4 H64
�3�L/L/ /4  != �644!: �/4!4 �63!4C
2�4( />C  /! �F2F.�=/!(!=/4 (�4L >C/22:
��44 �2/�1C >/! -6�- LF3 	/33!2:�62.
1!4 L/!-!4 �F%: )
4 L!-4�/4FC!4 />C�F%.
�=F�-$*� =F%C >/!  != 9/�14/�1!4 !4
�=F99! LF: )�/= 3G>>!4 H6=  !3 �62.
1!4�=F�- LF=G�1 /4  != 
6 (! >!/4$*
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	'���!���" ��!��"$�� �'! ��$�(�
���������
� 
3�/!%2�4 46= 7>C2/�-  !=
�=�1!4>�!=(! 2/!(C �4(=!4L!4 �4  !4
�!1�44C!4 �=G(!=.��C/64�29�=1  �>
12!/4! �C63!4/.�/2 =!>!=H�C�  �> >/�-
/4 ���-!4 �/!==!/�-CF3 4/�-C -/4C!=
 !3 (=6>>!4 �=F != LF H!=>C!�1!4
�=�F�-C: �F% !/4!= %=G-36=(!4 2/�-!4
�F>>9/=>�- 3/C !/4!3 !/4-!/3/>�-!4
�F/ ! 2!=4!4  /! ��>C!� �/!=>9F=!4 LF
2!>!4� F4 �!6���-C!4 �2F>>9%!= !��2!.
%�4C!4 6 != �/=�%%!4 �F> 4��->C!=� ��!=
>/�-!=!= ��-!:

���	
��� �!= �2K ! �/H!= ��4K64 �4
 != ��46=�3�=6FC! >�-4!/ !C >/�- /4  /!
47= 2/�->C!4 �F>2�F%!=  != �=�1!4>.
�!=(! !/4 F4 />C !/4!=  != >9!1C�1F2�=>.
C!4 ��4K64>  !=�!2C:�F%  !3 
!69�= 
�=�/2 1�44 3�4 /4 �22!= �/4>�31!/C -/4.
F4C!= LF= �!=G-3C!4 �2F>>>�-2�F%! F4 
I/! != LF=G�1 LF3 	6�-92�C!�F I�4.
 !=4� F4C!=I!(> 2� !4 1G-2! ���-! F4 
3�2!=/>�-! ��>>!=�!�1!4 LF3 �� !4
!/4: �4C2�4(  != (FC �F>(!>�-/2 !=C!4
��4 !==6FC! #  /! ��-/2 != L!/(!4  !4
(!2�!4 �F>>�� =F�1 !/4!> 
!69�= !4 #
(/�C !> !/4L/(�=C/(!�F>>/�-C>9F41C!� H64

I6 >/�-  �> ��CF=IF4 != �F>  !=�6(!2.
>�-�F �!>C�F4!4 2�>>C:

�
�������
������ ��> I�=! !/4! �!/>!
/4> 46= 7>C2/�-! �G �%=/1� 6-4! !/4
�=!11/4( /4  !4 �=�1!4>�!=(!4$ �F%
!/4>�3!4 �=�/2> F4 G�!= >9!1C�1F2�=!
�!CC!42!/C!=4 %G-=C  /! �6FC! /4  /! I!(.
26>!� I/2 ! �/9%!2I!2C  !> -7�->C!4 �!.
�/=(!>  !> >G 2/�-!4 �%=/1�: �F%  !3
	6�-92�C!�F (/�C !> 1!/4�!(!4!CL�I!>.
-�2� !> >/44H622 />C� 3/C !/4!3 �F/ ! LF
I�4 !=4:

�
���
��
����
����> L�F�!=-�%C (=G4!
�F4(F��2���22!K /3�6K�2.��C�2.��C/6.
4�29�=1 >�-3/!(C >/�- �4  !4 47= 2/�-!4
�!/2  != �=�1!4>�!=(!�  6=C� I6 >/�-  �>
�!=G-3C! �!2>!4.�39-/C-!�C!= !=-!�C:
�/4! !/4%��-!� (FC (!1!44L!/�-4!C!
��4 !=F4( �F%  !3�F(!2� �6=(! �=�/2�
G�!=  !3 3�=1�4C! �/9%!2 /4  !4 	/3.
3!2 =�(!4� %G-=C LF= �F(!2� �6=(! F4 
LF3 (2!/�-4�3/(!4 ��>>!=%�22: �4C!=.
I!(> 2�>>C !> >/�- /4 CG=1/>�2�F!4 �!�1!4
 !>�F(!2�.�2F>>!> �� !4:�/4��>C!�-!=
LF �=�-�626(/>�-!4 �C�CC!4 3/C G�!=

DMMM ��-=! �2C!4 �!2>(=�HF=!4 !=L�-2C
H63
!�!4  != �=�!I6-4!=  != �!(/64:

��������� 
4  != �=��!4�=F�-=!(/64 4�-!
�/2(=/3<> �!>C (/�C !> !/4! 4!F! >9!1C�.
1F2�=! �CC=�1C/64� �/C  !3 AM �!C!=
-6-!4 (2�>!=4!4 �=�>169.
/%C C�F�-C
3�4 /4 �!1F4 !4>�-4!22! /4  !4  /�-C!4
>G �%=/1�4/>�-!4 �!(!4I�2  != �=�>.
169 �6=(! !/4: �F%  !3 �F4 (�4( �F%
	62L>C!(!4 /4  /!>!3 G99/( (=G4!4 ��=�.
 /!> 3/C >!/4!4 �!L�F�!=4 !4 �%2�4L!4
F4 �/!=!4 I/= 3�4 H64 (�F1!24 !4
��-3!CC!=2/4(!4 F4  !3 2�FC!4�!>�4(
��F>!4 != �/1� !4 �!(2!/C!C:

���������

�� 
4  != ��CC2!%/!2 .�!(/64
/3 �6= I!>C!4  != �=6H/4L �I�LF2F.
��C�2 1633!4 �!>�-/�-C>/4C!=!>>/!=C!
�F% /-=! �6>C!4: 	/>C6=/>�-! �!��F !
/3 �=C>L!4C=F3  !> �%=/1��4> (!9=�(.
C!4 �C� C�-!4> �=K-!/ � !/4 !/4 =G�1.
2/�-!> �F>!F3 F4  /!�!/C!4  != !/4>.
C/(!4 ��-2��-C%!2 != !=/44!=4 �4  /!  =�.
3�C/>�-! �6264/�2(!>�-/�-C! 3/C L�-2=!/.
�-!4 ��-2��-C!4 LI/>�-!4�66=C=!11!=4�
�F2F> F4 �4(2�4 !=4:

�
$�$������ '% ���
��� #�# ($!������

 ������ ��! 	��'����
($ (������ ��($
!��� !�� &��� ($ !#��(��
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�� #����! �������

��� ����� ���# $�#� %�� ��� � ����!�� ���� �	�� ���� ��� �� ���!� �����$�� ��
�# �� �#&�! � �!!� �! ���$������ !��# ��� �� ��%� � �� 
�� ������ ���� �� �� !��� �% ��
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